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d\(w Amount of Oxygen (_“&\_/4'/-@) Consumed by Germinating and Dormant Seeds at
@y' °C Over Minutes (+/-____) With Calculated Average O, Consumed (Corrected for
Air Pressure A) per Minute (+/- )
Respirometer Time Volume of | O, 0O, Average O, | Average O,
Contents (minutes water in the | Consumed | Consumed Consumed Consumed
respirometer | per 2 minute | (Corrected (Corrected (Corrected for Air
(mL +/- ) | interval for Air for Air Pressure A) per
(mL +/-___) | Pressure A) | Pressure A) | minute
per 2 minute | per 2 minute | (mL +/-__ /min
interval interval +-_ )
(mL +/- (mL +/ )
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O: Volume Consumed per Interval = Final Volume - Previous Volume
Corrected Difference = O; Volume Consumed by the seeds - O; Volume changes in the glass bead repirometer
Average = Add all data points, then divide by the total # of data points
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°C Over Minutes (+/-___) With Calculated Average O, Consumed (Corrected for
Air Pressure A) per Minute (+/- )
Respirometer Time Volume of | O, 0O, Average O, | Average O,
Contents (minutes | water in the | Consumed | Consumed Consumed Consumed
+/-___ ) | respirometer per 2 minute | (Corrected (Corrected (Corrected for Air
(mL +/-__ ) | interval for Air for Air Pressure A) per
(mL +/-___ ) | Pressure A) | Pressure A) | minute
per 2 minute | per 2 minute | (mL +/- _ /min
interval interval - )
(mL+/~ ) | (mL+ )
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Final Volume - Previous Volume

35 °C Over ______ Minutes (+/-___) With Calculated Average O, Consumed (Corrected for
Air Pressure A) per Minute (+/- )
Respirometer Time Volume of | O, 0O, Average O, Average O,
Contents (minutes | water in the | Consumed | Consumed Consumed Consumed
+-___ ) | respirometer | per 2 minute (Corrected (Corrected (Corrected for Air
(mL +/- ) | interval Jfor Air Sfor Air Pressure A) per
(mL +/-__ ) | Pressure A) | Pressure A) | minute
per 2 minute | per 2 minute | (mL+/- _ /min
interval interval +-_ )
(mL+/- ) |(mL+/ )
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Corrected Difference = O; Volume Consumed by the seeds - O, Volume changes in the glass bead repirometer
Average = Add all data points, then divide by the total # of data points
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O: Volume Consumed per Interval = Final Volume - Previous Volume
Corrected Difference = O, Volume Consumed by the seeds - O, Volume changes in the glass bead repirometer
Average = Add all data points, then divide by the total # of data points
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°C Over Minutes (+/-__) With Calculated Average O, Consumed (Corrected for
Air Pressure A) per Minute (+/- )
Respirometer Time Volume of | O, 0)3 Average O, | Average O,
Contents (minutes | water in the | Consumed | Consumed Consumed Consumed
+/-___) | respirometer | per 2 minute (Corrected (Corrected (Corrected for Air
(mL +/-__) | interval for Air for Air Pressure A) per
(mL +/-___) | Pressure A) | Pressure A) | minute
per 2 minute | per 2 minute | (mL +/-  /min
interval interval +-_ )
(mL +/- (mL +/ )
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Air Pressure A) per Minute (+/- )
Respirometer Time Volume of | O, 0, Average O, | Average O,
Contents (minutes | water in the | Consumed | Consumed Consumed Consumed
+/-____) | respirometer | per 2 minute (Corrected (Corrected (Corrected for Air
(mL +/- ) | interval for Air for Air Pressure A) per
(mL +/-__ ) | Pressure A) | Pressure A) |minute
per 2 minute | per 2 minute | (mL +/-__ /min
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O: Volume Consumed per Interval = Final Volume - Previous Volume
Corrected Difference = O; Volume Consumed by the seeds - O, Volume changes in the glass bead repirometer
Average = Add all data points, then divide by the total # of data points
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(S( CT@,?LZJ Amount of Oxygen ( +/- __ ) Consumed by Germinating and Dormant Seeds at
22 °C Over Minutes (+/-___) With Calculated Average O, Consumed (Corrected for

O: Volume Consumed per Interval = Final Volume - Previous Volume
Corrected Difference = O; Volume Consumed by the seeds - O; Volume changes in the glass bead repirometer
Average = Add all data points, then divide by the total # of data points

Air Pressure A) per Minute (+/- )
Respirometer Time Volume of | O, 0, Average O, | Average O,
Contents (minutes | water in the | Consumed | Consumed Consumed Consumed
+/-___) | respirometer | per 2 minute (Corrected (Corrected (Corrected for Air
(mL +/-__ ) | interval Jor Air Jfor Air Pressure A) per
(mL +/-__ ) | Pressure A) | Pressure A) | minute
per 2 minute | per 2 minute | (mL +/-__ /min
interval interval +- )
(mL+/- ) [(mL+/ )
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